V4

------ Sindhi High School-K K Road, Bengaluru-01
Annual Examination (2023-24)
English
Class : 7A/B/C ¢ Mark
gatef: 18/03/2024 Ti?r:es : g?/ I
o ) | . 2 NII'S
pages- 10 Reading Time: 8-8.15am

Writing time: 8.15-10.45 am
General Instructions:
» This paper contains two sections. All sections are compulsory.

Scct%on A —Reading — 20 marks
Scctfon B — Writing & Grammar — 20 marks.
Section C — Literature — 40 marks

» Read all the questions carefully.
» Attempt all questions.
« Write the correct question number for each answer

SECTION A- READING [20]
I. Read. thp given passage and answer the questions that follow: [10]
1: Music is perhaps the most popular and widely practised form of Fine Arts, transcending all
kinds of cultural and linguistic barriers. Any form of fine art is difficult to master and almost

impossible to perfect and music is no exception.
2. Nature, it is learnt, has blessed almost two- hirds of the human race with musical ability of

some sort. Music has the power to bring out the deepest emotions. It can make one cry or bring

4 smile on one’s face. In fact, it is a magic medicine, and many seek refuge in it when they are
depressed or stressed. It is this intimacy that makes us listen to music or even hum or sing
sometimes. This singing, or realistically speaking, expressing one’s emotion musically
sometimes takes a serious turn. This desire to show musical expression in public then becomes
a serious business profession. And from here the musical journey begins.

3. This desire to sing before an audience 1s innocent and beautiful and indeed it is perfectly
alright to have such a genuine desire. But it is also important to understand that singing 1S an
intricate art — a highly refined one at that, which requires systematic, prolonged and strict
training, to be acceptable. This is an aspect we forget in our keen desire to reach the stage
and perform. It is almost like preparing a formal meal for some specially invited guests,
without even having learnt and trained in the basics of cooking. This is why we have more

noise and less music nowadays.

4. These days almost everyone sings, an
professional singers. Result: a complete disregard for and ig
is because the need is never felt to go through training and the urge to get to the stage

overcomes even a little desire to learn. If at all, somewhere along the way one feels the need
to gain some knowledge and training, it leads to hurried shortcuts and half-hearted attempts,

best described as ‘Crash Courses’.

5 Ttis observed that those who have attained the so-called partial success, suddenly feel that
they lack the required knowledge and are not learned enough. But it is too late by then. It
should be understood here that the stage or a performance brings in a different mindset withir
the artist. It is always recommended and rightly said, that while on stage, cover the mistakes

d it does not stop here. Most of us want to become
norance of the training part. This
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! ~ answer the [ rquestions: [
Hased on your understondimg, of the passige, answel the following ¢

L What 1 stated about music in the passage!?

() 1T easy Torm ol fine ail,

() 1 tennseends cultuenl and linpuistic barriers,
() 101 only appreciated by trained professionals.
() TC ot a popular form of Tine art.

2o According (o the passape, what is the power of music?
() 1 has the power (o bring out the deepest emotions.
(b) 1t is only for those who are depressed or stressed.

() ltcan only make people eIy,

(d) 10is a mapical cure for physical ailments,

3. Why does the passage mention the process of preparing a formal meal?
() To emphasize the importance ol learning the basics of cooking.

(b) To discourage people from becoming professional singers.

(¢) To highlipht the complexity ol performing music on stage.

(d) To promote the idea of quick and casy musical training,

4. What does the passage suggest about the trend of people wanting to become professional
singers?

(a) It 1s a positive development in the music industry.

(b) It leads to a disregard for systematic training,.

(¢) It results in a decline in the popularity of music.

(d) It encourages thorough and prolonged training,

5. Complete the following statement as suggested in the passage: .
Singing is an intricate art, a highly refined one at that because
(a) it requires systematic, prolonged and strict training

(b) it expresses our deepest emotions

(c) it is a formal activity

(d) it is innocent and beautiful

6. Nature has blessed almost two-thirds of the human race with some form of
ability.

(a) Magical

(b) Learning

(¢) Training

(d) Musical
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1L Read the given passage eavetully and auswer the questions that follow:

Each question earvies [ mark: | 0]

Passage 2

LoAWIth novel Coronavivus spreading rapidly all over the country, there are only three states
Meghalaya, Stkkinm, Andaman and Nicobar Islands, that have less than 1,000 people infected
with the discase, Lakshadweep, of course, still hasn't reported even a single case (il now, the
only repton i India entively free ol the eptdenie,

2 Othernwise, even the relatively smaller states have a stpniicantly laepe spread ot the
discase. Goa, tor example, has seen more than 7,000 o its people intected by the vivus by
July 20200 Tripura has over 5,500 cases, while Manipur has moce (han 3,000, and Nagaland
alittle less than 2,500, Puducherry has more than L0000 cases, while even Daman and Dia

has over 1,300 people infected,

Ao And i cach of these states, the numbers are vistng ata st pace, ataeate higher than the
national level, The infections had mitinlly reached these states i the fest and second week ot
May, when the Tockdown was relaxed for the fest time to enable people stuek i ditterent
parts ol the country (o return (o therr native places, Ao a pertod o very slow prowth, the
number ol cases has begun (o rise rapidly inone month, Tn Goa, for example, the total
number ol infected people has nearly doubled e the Tast week of July, Same has happened w
Puducherry, s well,

4. Tuesday was one ol those rare occasions when the number ol aetive cases w the county,
those who are yet to recover from the disense, went down compared to the previons day

That is because the number of recoveries, combined with the number of deaths, exceeded the

new cases that were detected on Tuesday,



o = T g, / _ifi:"
¥ SO
= I  New Caves Bvery Day 4 ’,3)
| ¢ ; 2y
| l"f é'ﬁi = "
60,000 ¢ il e
?ﬁ'\‘“!' =
Bt
a0, (D | ~ €
_ S
20,000 § P9
y ; BSOS F
P
Cate
The dady rise of COVID- 19 cases s i3 IR
| S W— — —
. . . 4
f i . misrtens TR satal sl 28 aAIAOLIORS CIUNNN
S W ith ONer ﬂ,‘,’Si)U ACW Cascs dﬂ"fggd if ihe country, the 163! numiber F MMIOCU

L9 takhs, out of which 12.82 lakh pooplc have recoverad from the disease. The aumber of
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Choose the comrec Oploon to answer the questions based on the above passage and graphics

L How arc these three states - Meghalaya, Sikkim and Andaman and Nocobar lalands
ditterent from the rest of India?

(a) they are the only three states to have less than 1000 people mnfectiod wil movel
COTOnAv IS

(b) th:‘- are theee of the five siates to have less than 1000 peopio tnfegiod wuth sowvel
COTONAVIMUS

(¢} they are the only states to have lows than 2,000 people infoctod sth sovel cotonay it

(d) none of these
2 18 the oml

. . ¥ fCgvom o Indiua whoch s mhmljy ftew of the epudicysg
() Andaman and Nicobar Talands

(b)Y Maharashira
(¢} Lakshadweep
() Teypura

1 What 1s common among Goa, Trpura, Manigue, Nagaland, Pudu herey amd Dhasmas and
Dw?

(a) the numbers ate nang at 2 fast pace 2f rates lower than the nutional level

(b} the numbers are falling 2t a fast pace 3¢ rates cqual than the cational level

(€) the numbers are rung ot 2 fast pace a2 rates hugher than the aational level
() none of these




he infections had initially reached these states in the first and second week of May
aragraph 3).

{'These states’ refers to:

" (a) Meghalaya, Sikkim, Andaman and Nicobar Islands

(b) Goa, Tripura, .Manipur, Nagaland

(c) Meghalaya, Sikkim, Andaman and Nicobar Islands and Lakshadweep

(d) Puducherry, Daman and Diu

5. Which date in the graph shows the highest jump of detected cases in a day?
(a) July 30

(b) July 31

(c) August 1

(d) August 2

6. Of the 19 lakh infected cases, how many have recovered?
(a) 11.82 lakh
(b) 13.82 lakh
(c) 12.81 lakh
(d) 12.82 lakh

7. More than 51,700 people were declared to have been recovered on
(2) Wednesday

(b) Sunday

(c) Tuesday

(d) Monday

8. When did the number of recoveries cross 50,000 for the first time?
(a) two days earlier

(b) Tuesday

(c) three days carlier than Tuesday

(d) none of these

9. Which word in the passage means the same as “quickly”?
(a) rapidly

(b) significantly

(c) native

(d) rare

10. Which word in the passage is similar in meaning to “indigenous™?
(a) rapidly '

(b) significantly

(c) native

(d) rare
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SLCTION B- GRAMMAR AND WRITING [

' /
. shassaee piven be hoosing the correct altermatiye.. Yo
1L Complete the passage piven below by choosing the alternatives: 7
. e ] l e ! ( % (' "!‘/ ‘(Ci]/ (4
L Honey, amla, gums, resing, tubers and tamarinds; all these and more i)

LS fi'fm. foore, ™ L

" paw . “‘ 4
and (ii) their way into our lives, But the tribals who (m)___'_'_, dig and Cxtracy
them geta pittance. Now the government (iv)  to pmwc'Jc_u "””"””J”;_” SUpport prig, -
lorsome seleet forest produce, This step could help some 40 million tribal farmers,

' 1) fi i) plucks iv) decides
@ (i) come (if) find (iii) plucks (iv) -
(b) (i) come (i) have found (i) pluck (iv) has decided
() (i) came (i1) finds (ii1) plucking (;v) wﬂ]_ d,ecrde
() @) willcome (i) will fing (iii) plucked (iv) deciding
2. Rewrite the given conversation in Indirect Speech: [72x2=1]

Doctor: What is your problem?
Patient: | am gy ffering from a headache,

The doctor asked the patient (i)
The patient said that (ii)

........................

_____________________

(@) (1) whatis hig problem,
(11) Twas suffering from a headache.
(b) (i) what were hig problem.

(i1) heis suffering from headache.
(¢) (i) what his problem was.

(i1) he was suffering from a headache,
(d) (i) whatis your problem?

(i) he has suffered from a headache.

IV. Do as directed:

1. Ditya (already/type) three pages when her computer (crash) [1]
[Fill in the blanks with the correct form of verbs. Use helping verbs where needed)
2. The minister visited ................ | flood-affected area. : [1]
(2) some (b) every (c) either (d) any . . _
[Complete the given sentence with the suitable determiners]
3.__umbrellais __ useful thing. [Fill in with suitable articles] [1]
4. My friend has one of the cars on the road. (fast) | L1

[Choose the right form of adjective]
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6. Editing: Read the given lines. Identi

e A e e entify the error in each line and supply the correction for
(2]

Error Correction

Educationist today are overwhelmingly (a)
concern about the future of the youngsters | (b)

V. ; : . X
As Mukul / Mahima of Alpine Public School, write a speech to be delivered in the school
(¥

assembly highlighting the importance of cleanlin i :
: €ss su tine t
character of a person. (150-200 wor ds) ggesting that cleanliness reflects th -

V1. You missed your Mathematics examination as you had a fracture. Write a letter fo the

Prinpipal of your school seeking permission for a re-examination, Imagine you are
Ashima/Ashish a student of National Model Public School, Anna Nagar, Chennai-600054 (_5]

'SECTION C- LITERATURE {40]
ons that follow: 4]

VIIL. Read the given extracts carefully and answer the questi

Extract A.
“Dey get id all,” he said, “dey get id by advertisement, nod by work. Dey take id away
bresently I haf no work. Every year id

from us, who lofe our boods. Id gomes to dis—
gets less. You will see. » And looking at his lined face I saw things I had never noticed

before, bitter things and bitter struggle and what a lot of grey hairs there seemed

suddenly in his red beard!

1. Identify the lesson and the author of the story.
A. The above lines are extracted from the lesson:
(a) Three Questions written by Leo Tolstoy
(b) Expert Detectives written by Sharada Dwivedi

(c) Quality written by John Galsworthy

(d) The Invention of Vita Wonk written by Roald Dahl
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2 Who is the speaker of the above lines? What was his occupation:

A The above lines were spoken by:
(a) the salesman at the new shoe store

(b) Mr Gessler, who was a passionate bootmaker

(c) The narrator, a young businessman
(d) Mr Gessler, who was an artist

3. Why does the speaker’s English sound different?
(a) Mr Gessler spoke in a heavy German accent
(b) Mr Gessler was weak and frail
(c) The narrator spoke in a heavy German accent
(d) Mr Gessler had a fashionable accent

Extract B

“Fall?” scoffed Dad,
“A climber like me?
Child’s play, this is!
You wait and see.”

He got out the ladder

From the garden shed.

It slipped.

He landed In the flower bed.

1. Name the poem and the poet.

(a) The Garden Snake written by Kit Wright

(b) Meadow Surprises written by Kit Wright

(c) Dad and the Cat and The Tree written by Kit Wright
(d) The garden snake by Lois Brandt Phillips

2. Who is the speaker of the above lines?
The above lines were spoken by:

(2) Mum

(b) Dad

(c) Cat

(d) Children.

4. What is the speaker unhappy about? What was his complaint? [Answer in 30-40 words]

7
e

o) %
6@

L4
%)

e ”_

[1x4=4]




¥ as Dad sure he wouldn’t fa]]?

\/l‘g ;“Dad was sure that he wouldn’t fa] because: 7
ﬂs‘e rought of himself as a great climber h
)" had a ladder

(p) ,Was climbing the steps

((5){16 had a harness to protect him

4, Why did the speaker want to climb the tree?
answer: Dad wanted to climb the tree; |

(a) as he wanted to prove he was an expert climber
(b) because he wanted to play on the swing

(c) as he wanted to build a trechouse.

(d) as he wanted to bring the cat down

VIII. Answer any § of the following in 20- 30 words: [2x5=10]
e Y — .~ J

: ., -
I,hWr)thh of the hermit’s answers do you like the most in the lesson, Three Questions and
why’ =

2. What was the author’s opinion about Mr Gessler as a bootmaker in the lesson Quality”?

3. What trees does Mr Wonka mention in the lesson The Invention of Vita Wonk? Which tree
does he say lives the longest?

4. What does the poet of Meadow Surprises refer to as ‘meadow houses’ 7 What is amazing
about the mounds of the ants?

5. “Now Abbu Khan understood Chandni's problem...” What was Chandni’s problem in the
story Chandni?

6. The bear grew up, but “he was a most amiable bear™. Give any two instances from 7he
Bear Story to prove this.

[X. Answer any 3 of the following in 40-50 words: [(4%3=12]
1. Why did Grandfather want Timothy to be put in another enclosure in the lesson,
A Tiger in the House? What shocked Grandfather in the end?

2. Why did Tilloo and his family live under the surface of a planct, as mentioned in An Alien
Hand?

3. How did Ananda feel after reading about the National War Memorial In the lesson 4
Homage to Our Brave Soldiers?

4. Compare and contrast the character of the Bear from The Bear Story with that of Timothy,
the tiger from A4 Tiger in the House.

L¥e)




wing in 80-100 words: K

h a camera, not with a gun. Discuss with reference (o the Tesaon

X. Answer the follo
1. Shoot animals wit

A Tiger in the House.

[
OR

“There was a time when our forefathers lived on the surface quite naturafly Indeed, they dil
so for millions of years. But fimes changed. The very su, which had provided s with
sustenance, turned hostile. It changed only slightly but the chanve was suffictont fo upaet the
balance of nature on this planet. “First the birds became extincl. Uhie aniinals followed e
fish couldn’t bear it anymore either.

With reference to the above lines from the lesson A
is important to protect and conserve our natu ral resources.

Alien Hand, wnite a patagraph on why i

mfl, statue, an f'r/!/fr'f' fo colebrote

i . . .
Some people might see a war memorial as just a monume
Inomy view,

i?;a;g Z;,lczg‘g:;:ofo’7}{26??102'61-.&3 ’mose 1}!/10 were marfyred or injurcd in wa

soldiers defending theISZ vef:i; f: ?rm;d_e Jfor f.h.e supreme sacrifice made by our hrenve:

With reference to the above li;estJ frac;:] HHG{;N {y .Qf e Ty

diary entry expressing your thoughts '1[1 ]C ,(M . A Homage lo Our Brave '.S”/r,“""" wrilc &

Disc_uss the importance and Sig“?ﬁc;;cecz,; 15:1||.ng the National War M}?lnm'lnl o N:_'w Delhi

inspire our youth. paying homage to our soldiers and how it can
OR [5]

A !Cf! i ( I 2F .
I l

—
(=]




\/

‘.-~ SINDHI HIGH SCHOOL, BENGALURU
(‘\\L_"., j ANNUAL EXAMINATION (2023-24)
=] QUBJECT - L2 KANNADA

Class: VII Marks: 80

Date:
Number of printed sides: 9

26 /03/2024 Reading Time: 15 mins
Writing Time: 2 hrs 45 mins

BRAWBINTD:

& 533, SYTODE), 2,630, 15 2308 ARUNALLONC IS

o &P, SYTOD gIff - A eHI), 2ol - B ed02) 2Jonnead, 03, A B CD 0w
NDISMENIADIATAL IR 2,910 TBIZT3.

Jeart - A B, 2,633, 4 83385 3,neh, 10 233 803,03 B-ByI,NP D3I,
3053630 10 &3,3,RLTIZE3.

23T - A €953, C00F 539, 80LAT3C), 10 2383) €303,09 Sy, rieh, 5 2Teedrad
S 3y, BBRRCTT 5 B> B0k, HHNIN 03 DR

2307 - B - (2)3EEBR0% F2Bey) I2Ior C & DO, 3, noR 03 DAL

25 - B (&8N €9535;00) @S edgori - D oo 11 DOTI 15 a5
FJNPR 9, B3 0oe3 RP3F0H03 3 DALIB.

y3ori-A €93, 0T 2I05FTER 15 €203ND
(40 ©90BRYD) (13535 a0, Bd,- B0 OTT OGODS | 05 0T

B 3y, ThdoTo TOTO; 20 e90TND

22053681 TOJO; 12 £90TNY
yori-B BB G0D 28 90BN

40 207NN
( . 2,833, 0T : 80 e90TNY

PART-A-( 40 0TIND )
SECTION-A
(70@R 3y, Moo FToFO; )10 90BN

12PN N8 wenas), tDIR0W) 283,008 &F,NO1 evd deEwd, 303
280 D. 5X1=5

DR 3, THET0) DINY To© LLFORED BL),. BRWO B 'e33,0300%

RY BFHTED. 8 DIV, SOT BHTEED 20w TONIVS. Pt FH&ED



4
[ &—‘*ﬂ’fn‘ .'..’lll?’:”h " PR .
sy, deory wndAc,
OB Aalindally s i
. o v o ALY, O
i.4ed T ““?f;’_ﬁﬂr &) 3 alp Ll iy - i )
o ?\ 4y N ‘;_h‘-'rj ""an b3,
r\‘sq. ."_":\“' A LAL Y e J i . o | |
el REE0) DDA SRR, B CRIR R,
\Ql \ 1 ;\1)1)31’,} 'm."t‘".a :.--v‘_, - AU
(ﬁa o ud » 8, € . "‘ ,'_'&.“ 1"’
& f '?ﬁjf?’ 740 ‘t;‘ Qo v\w, bl 0B ‘ T N
ATy v SSOMRTATN Gt Sl Jn ARG
degd HOML FOCNS0E BUTAT B
sk s o ERGLOBRE DR, WAHONDY L
’ irt PN ETH ':5 L PRI, 5‘.-‘: 1y SaGslnaly i
L :.‘ LYY .\.‘?‘ B ;f_i.

. wan 4
4 vty 2808, Ak N e

*{;% 7:.3"’1.-, oL ﬁb'b}h" Q!U § 3,5) wm;u..
i Aaty A ‘(I‘.;'.' '9 . .“;»‘. t"."ﬂ"-{s’—‘
fladip Gty W -

et O (eIl TRDF &

< - . g p il
| b ATy 2.31 oty ) 1 ‘ [ $ 0
SO WO DTSel) 0ch LY LA .
4 ?“, o) g ’u._‘u\,i-f‘:
4 =4 soy Aasa  eerd O 4 ¢4 ’n",-..\f AL e % o ok
A ""} wis | ':fjf‘»f .j' 22002 b) r\,u,'r- l\;\ ;l‘v 4’0.. DLy sl LT 0 15 e

a of 08 gle s
red, L ety R, ST

502, gotatdnPors eserosDRAR0

<
-j = ok it gl FEADE '_,-._qo\‘{ |
@ ) DRGSO “ \. ; .’s“ ] !.'HM-“'?* b.-".a:"'m L7ee) l-*" ] 'A"”'\-" "L‘J:" swe oAt "& .
wn S R A \

A b b Lol

& o Lot
g » . . - i . . . . w? t L . r“" A=l R, .‘\3‘!.
et Hetajerd o sdamd ¢ OF Jott Aergrvos a5, W )
el -4 g Y ! .‘ -~ -~ a A : #&§ ?h) tf f"’ir‘:“ ﬁ
e“a.ﬂ(‘;" 'a‘} . "P!"'l.'"\\;-'r‘ :.v Q‘ K-tz.‘lj\ ':;"‘:'“r: t_ ;,. *E 4" K, "? y {u\ “;‘ L kn.u g AL O iy *7") W ol g eV > S

. - ) _ N . . s afp =l pod "'.7""'& b,
BOOLBG I, I, MONDTONYY, SO AT L0IT I, e Sl
LOBAMN Losah eudobaly, Sathatod INMIG BEDOT Borluioth ™ Pt e

\&@Oﬁﬁﬁ@s@h 3&)@.?]5&&54-m§' T J.;me) F@-ﬂ\)‘g & “; ’.‘,’;wf"tf w30 :\:‘

«uedy DAMY aLESH '\'-"'?v*?'_._s&*a-'&?—'ﬁ: oA e AT A) 3 FOLI, SEFdCE ?ﬂ..ro-f:i‘t;ﬁn

Moud

xodetd m;-._gﬁ @S Vool Botlr 3 wsEe, HEY i 0E oty
motvhens GRS  LHNHD Seyal adfodabadi, ®oetdabinks B ATOES
PRLINYRIYL 3L ALBIL

@ 8, ren

_f‘l‘

1 ol DA ASFI DN, SHoth stobus
A DO 33 d B ) ¥ 3ese C g, Fahied D 208 s d
\-\.'\’ﬁ?‘.ﬁg\m AR PRI Ao., RAMIEAD (AN @Ik D L) - e f‘i"ﬁ;)n'};)ﬂ L_:;‘,a.’,})‘.‘,ia‘;#
A gﬁ‘{t‘\a & ‘t;f&mﬁ ':':-' E:‘@Eﬂf.g DJ 730

3 3-)\3 ﬁm &*@‘*’ "..uei. ’ N ut.mq?‘ Ql :%. A 3:"’;.() ?"} %’;!.2:.!"."#} 3-".&’"_‘_»’
‘93 d tl'ﬁ{' -.’\:Lm@*

A 0O IS 8 IgBT C o3, o 3



0.
2. 03, BIER TR o &rieh 20T

A 3o% 9T B. TN C. 5358 D. 252033, @E
3. o AN TR, BEDR, T 2307 SRRT.

A. T, B. &)/00) C. 8003 D. 0T
4. Gz e33EBT03 AFTO) 9BF JOONF, 2)AOT LOTIT.

A SDCHE), BRI, C. 3B.00¢), D. FRRE),
5. '%00'%) &3 IOLCHBR, FRBATLOT 202) BATI 203,

A. BOROT B. 200R05 C.2NROW) D. 2BAOY

lll. 85 B3R 208,0s B3 NEemn 03D oD’ HTHT, LDTPOT)
T3 $ 308,055 s9,nON FOOIRE 3 Tud, BTN 5X1=5
€8 3,357 SBONE). 0T303I3Y,. BACNC3E2),ITY, COPAEL) Fndy0T30N

3BIMIBWODEY, 202 TP, ITE P0R FRCD* WHBT,03 37, Jr
PN,

33, BN BAXBH B3, 2383,00 ReHeIA, FOL SSBBRD* DONCEIT®
I8, B, BIE,. FRATROD TI0T W, 308 I3ITFE DY, TOBIWOS. W
SDONDE IF, RN DTDNIIZRL, 203, 83T, 22¢F0TION FRCTRIZERBC
BOIL 0 B30T BT, 83, IR, BNTE), IRT FOBTIEI LT,
SBTTET* HOMET? I, PTEONRITIT 53,8537 T3 T3,0303 e9533eT),
VAT FE,030E8ANIR). "B T 2303 EF, AR 9@0,3), LTI ? NN
DN 2203 LTOHEET 020 AT R IeE3 ? Dedit 30 TR 5302300
AV,RROF ? 33,0, e3BRLTF, F0IN S B, 23,035 ete3 O sacd,.

"TBODeIEdy FeDAT,,. TR 870D, 98e),. IJR Fptr
00083,0303K BRTED 20DTLS. BoDER JeIen Ry, TOOZTM I, FOR
ST e BRBTRR). Berelt Iraen BHINGE. Fehodh SIS e0nnR
234035 dT03RAFROR.

"TOOFVTLRCT ? 2.0BRED, I, THN B STTeET ZRBROHE). T
BOALZOD, THONET ) F0ZTNHET,0357? 33,535 eI I@azen N W
A), BATT AR BRI T,?" 30TOD 9EeLTT, FOSNGE.03 Te) .

23,035 BHITH Fah 3023 3 I IBRODT GIDAB 2,2, 53,8500 Toc) D)
0TS Jet TR, HYETEN BREITES. AR, hriss, LRI F,em,
ARENT5E 23N, WEDF,TBIZLR. 3T RS0, oD JE0D e0T Fa,

4



csbdad(edm STRODID. 03y13,0013630) Hoedad), edNOLIBBIFLL )0 7i0e) IO

A0 e Lot oJoN 23236 a3vardNes 14 ¢ . o ; .
MO o) e330t8red M, bt wey, Gt 3aeh es £33 29 A,

oDIRIN, OO A SOIBII0S LD SR S, R e3sariedy 2)cdy”

153,038 SRRCLO), W), ?

2.5500E R TRTRODH PG, 0100 NEE). 3303, ?

3. @3,03,01 et chaldilelty 0350 ?

4.3.08N0H 30B0) 00 &3xte3 BOETD03NY ?

5,53, 00T3E30) I3, EDI0TIRTTILI ?

V. 81 YR 28,058 9. BroBTeE WD & B s e VD3 R
onan, Whdeorwd ous FIR 208,053 83,91 I00ded eV 3 IR,
230 D. 5X1=5

B Je) B8 250 B T
nezTt BE3TS S AT
[0 [TE) SR ZyTyd TR, TRTIN.

2559 209 BO BREN
FRYOD 30AL DI
23R 21 BRNRODY VTP
DOTRAPAZDD MY
TOB) AN, AOB) B IR, WL

HORY BTRE) BRRE) 3B 302360 LA
3D NI BT,
93T W, W3,
OB B, NOB) BAVANLHT W

SR A GARNIEIAN
[, SOBONY o))
TP HLPTRMN
VDD TOBT W)
2DTG FeNE) St TRITOTB LY.

R8,n%H
18508 S 36,250, TN 0350T) Tty FRBINNTINS ?
2 RRDOD ATy TOTeered) ToTaekw?



SECTION-B

(93, T ;8000 D3Iy, BT FPUT 9T; ODN) = 20 OFAW
V. 3UNRS 3303000 &3,11 Soe, e03 BN, sRBNG eaPyrive).

ZDo3RE end 8RRy, 3D W3AND. | A10 =19

1.'0OomOY & BB ARG T BT

A. Tson B. 2008 C. o0&,

R BT 23; Don 8T

A ATIR; B. A3 C. I9AS D. ZdRS
3. D20%3ed DPH)V0N BoRITOY'. T 39T, 5 A%

A BT/ o0 B 23tAnTee C. IIFSPS 20 D. TROITW
4. 'BDAbY 8 BEB)Bra3 Je3s HdH 32

A. T3S0 B. B, 3¢a3m C. 3,803 D. 33DF

5. Btepoodrd), Fpwedodh: Fpd B3 Wo.N. & w7,
NBE TR, MT232 22330D.
A. c:"‘"““o;;::’t‘}; B. 3RS C ol D. &peradain
6.'€903D’ & ITXT IOIT, BG:
A BRSRRY) B. 30023 C. 23D D. e20d
/. DTV, & ITT TRTATHI, v
A 0 . €373 C. »A D. athd
8. 'WOR) & [ITW HDHsHFS deox
A. 203iNe) 8. WORA C. L2033 D. et

B3 2ot

i ; » " i 3
o) L Ay tara e And Ty =y /
v Qﬁ%h d.}& . o AN, Gl WY Al n)aJua“J Gl

. —_ 1 n Y 2 o = S —— Ny et
ararntatas) R x=oerm = vy € ey e AN L) BN ‘e i Pa T
AL AL TV 0. (DY ¥e VAT L CUANY VUL, V. el dedall
P RS U U I U O
0. 30WY - & ITT TATT =@
» N Y 1N q -3'-.\.'\—--\ |.- ““:"\j‘ F‘] SVY T 4%
M CEL R v e el el O Ve el Gy



Vlrﬂ,ﬁ,qg,—so&oé RPN W3ND.

3 08" (B BEE, Aeh, 8,038 eT;6), 2392 230 )
) OGO (& BT, B2 FOPOHTY, BAOY )

5X1=5

;. esTg S 230:B ( B BWNERY, MYODT BRTEE), 133010)
4 e JeD, WEBBA, Batn - Breesned BUFD, T S, ( B e30%, 0373 6, 000%
32, 2R mwm& rYBI8A 203D ) o

5. ) BRT LTV IFED 95N I0D FSBRRNY I, BeCTe BB
(B2 20TsT; ART, SOT WHMNF, 272 2BAND )

vil. 2YNS 3803008 &3, Re Toed, ev3BRFR, TNt eoyned,

23003500 03 8RR, 302 WBAND. 5X1=5
1. W3 T ByNODS 333638 BeB0% M) )03
BIEIDOT.

A. TRETS B.sde3Fod  C @I D. Zoe303)
2. BT LITMIF MYyaRey) 20T 3a30N3,.

A OJFORS B dDE03T C. 360 D. &g0R.0
3. Seasen, ABH, BRTTO BPRT FTOODE 13E3TEITA0T Teyed
AR AVADICUACAE

A. 350D B. 9F0R, C. R3S D. 23&
4, T THTTE), B Rasersedngd) eA.T0N 263,230

A. 063  B.adI SR O gAY D. 3&F
5. s350m,00MmN ByS SRE TP IBONIT.

A. e22)TECF B. 2303 C. 300G D. A&

PART-B-( 40 £203T1¥))
SECTION-C

: (DTRBR FF©;)-12 0T
Vill. D653 Ded, wdRO), B0 3,033 23N A, RFOD/RT 30D,
39,2 WO BF) WBAND. 1X4=4

X2 OFHBENY ZTooHDOW T¥N 208,083 FRFODD, BELFRPDA.
1,X8=4
RO Sed: BES | 3 08, , IONTR,, Had 037 ,BEROR L33,

20)BPR TYNRFPOTT W 09530 THHOD B, BTV TS



\
S 0NN, ST odseoemeod e‘dé\?dﬁn%d \
AR AR Wd, s, 1\‘@3‘\\(5\\-‘{\_ Ny O i&"t’).‘(}'i&’{\ 09639 Q:BC&)NKL@ PATSDIOW ai)a&gw;\g)_ \

oan, ety et ndd, S8 oy \

— W -y
SRNOT

SFL0RTY, WNE. VRCNIETN O, O, B, DM F)

SO DRI, SR NoIA @, B8S BE3,rone), iaed,ned AN
30 NARRY, IER. SO DINTE), MRS, :HOne 3OHS )
NPAD. NS I 18000, TORER0R 205 DY NI, 0MR

SRR, WTIT VR, IROS AedEed,

X 391 208,08 IRab¥e), S3nHmorte 2.08) IRchw), 2D
TNV, V)20 wBNY. 1x4=4

1. STRREEX 2on

2. SN, FIHR, T T3

3. 3 R SHEs, |

SECTION -D
(@Y1 eor3;003 ) 28 ev0FR YD
XL 8 FYNS I3, ROR 0RI-zDeD) DNV, 3 DA 4X2=8

1. 93 3023,0h 2B OB, 2005 NZO1 DT, RIRPBOTIDN
ARReRAIN?

2. TRYTAN 51 Cdoes &5A B3 ? 353 BORAY RONE[, DT WHFA3) ?

3. YT DTOD DENTICNT J§ AEDTENY T, HROB) BeLTh ?

4. 3,30, ToD) e9DONTIT) DOTWTLR ? HTIGDODDT BT DR ?

XIl. 88 3TAR BB, ADR 095h- e30) woBATS), wd DY, 2X3=6

1.3000)0359E3 BOTIFRE), €9853)23,03 a0 WONE HJNIY, ? €9.3323, 3,
NoBWSe0BT Casonie), & BetUesd eEISE.Sh? '
2. B30 €9e30) 33903 D95 3T ADOH, HTOW) e3EATT ?
Xl & FPAT 83,191 odsod odedR h3), o FoRWrEd), BePH0s.
: 2X3=6
1."®BE0 0T 2B P03 GOIBERY,"

(SlATap)

"e983:3) THOTEES HdTT"



2 ".‘\i()?\('.'(l';',‘ :\se\‘;_, DI MAR DT Ok
W
OGOBEILS R0, 00 O3S

XIV. UM &8, ROR D& - 0y 2y0¥,Mve) s B, 1744

. 30300 eIYEE), 03500 O350 @503 m,08803,0337 AUSHRONG S5 RGT/ NS 2 N0l
;djm.ro(a,f\imi( 3D ?
€933
DREDOVODNT BTN 1D mandy,? £IeahOnGseds 4is, /eyu i@l 1.5
HBIDTI0LIAI ?
XV. 3¥NS I, 191 0¢) - 2083 a,m,,nw&._ 03 0%. i

1. BORNY) 360033, LI IE), 2,035 elialali OTOONTIR) 7 20Ty, Tl o
35307 03303 e9BILISNFOTIE) ?
es 53530
133300 EHBoh DR, REIEY Ted HRFOTII IEBACT 7 110 OG0
chr\JdDNJQ)CjOOC’) O359e3 HONYD Ary3es ?

dekkkhkkhhkbhkhbkhkbdbk P’P****P*ﬁPb*b**ﬁ***t#fr*i#*ﬁi'

2. "RONCIT, B3, TR e9e300"
3530
"2 30NSLT YR, 0T ONTNYES"

XIV. 3¥AS &3, A9R HYD - 208) DT;NFO), o3 DA. 1X4=4
1. 30300 SCYTE), 038 33T EWoSR0TTI 07 30TDNY eNTDOT; BAlT=l

O3RN ?
€T30
2)6eH 0000 BeCTRETS THD HTONIY? DENTIONT) I, ALRRINET DOT
FBIDTTIOWATII 7
XV. 2NS F3,1OR 09) - 0&) WeFNTL, evg DA. 1X4=4

1. BORA) e35DONRI, 2IVITE), 2,035 ORI LVEVONEETY 7 LRI, FT
353078 03303 9N NFRTIY) ?

Zlap)
TR 5H30EHONTI, Ae3e g Ted HTOTW) 268, ATV ? THT) DR
STHR,0RYBOOT 03503 FONT AN ?

kkkhkkhkkhhhkhkkkhhkkhrkhkhrkhrkhhkhkkkkkkhhikrhdkkik



SINDHI HIGH SCHOOL, BENGALURU
ANNUAL EXAMINATION (2023 J4]
SUBJECT  SANSKRIT

Name
Roll No

Class/ See V1L Man Masks S0
Date 30 3 2024 Readisg time 18 mine
No of sides 4 Weiting Thane 1 s

= e e T AR T P e e e I —

GENERAL INSTRUCTIONS
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, . e Qo P ? .
e 1X2=2
g, qufaTaI= JTRd | Answer in complete sentence:
1. T ey o et R <
B |
2. TG T PRI FA?

- | %hX4=2

1. 3 STT: TeT: Gor 310 P |
SfeTgueH el forad | (31, S, 7T, 31U )

2. ‘3[TATS SXT: Hfafa=mas: iy |
RraeH i forgd ( oreds, SR, Sffdfdeet:, 3ff¥)

3. “YRd 3% fiRg: I |
37 HUCH [P ( HRd, 31, fiRE:, T
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W g gutguey fawn A

(Y. a® @em gafa

GUE @ - [WAIEF F1dy

o Obserse the pitture and complele the 4 scfiletices wilh words given i the

"ﬂl*lmfﬁ"mwm Wﬁm4amﬁwt i

L ] FraaNaN JvoEes FETETETE
”"“‘ ST 1LY :'l ut ll.-“r"-.t
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% sa o o T e e
) { frnt | €3 o8 ny h. et

el By ecpe
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3. e Wi
) ‘,5[1.'?&“_&?-; AeR— FUT

. YT FWRPA WHATS T | Tramlate the sentences into

Sanskrit R

. 1tead a book 5 Ued

2 She it laughing SR R &

IR, N -3 X ;.
3 Two boys eat apple & STEF BE @A E

4 You are a good girl




v. 3fed - fauferret: ety g £ X 6-

Fill in the blanks with the appropriate noun forms

L. S - ladi ferf | (@e, e, s,

2 R ——————

TA | (G, gemary , gana:
3. BYFT: W & R | (T, e wha:

YT mitwem (TR, w1, AT |

5, T T8 | (e, Rram, R ¢

B — Ne 9TH TS5 | (Tiar, %Tr“r?U‘J,?f.“"ma".:.j

V. Ui g |

i X4=2
Make questions.
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(it in the blanks with singular, dual or plural words as required.
ALIREHA FORRH SgaaTH
L I W
SUSH 3(U3Td S
AR [V | == —— [
1 - SITSIq SMTBH

QUS W' - UfSHTae T
VIl. Read the passage and answer the questions given below
TRITYT Wil SreewTe WaT S |
TR TR T FRAFRA S | s A femr g 1 o e
cqfraieR X o | o RIS BRI Qe S | ':??'&'Egﬁfi
e 39 dRvE: | A3 TR G e vafd | Rafigw SuR e
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B. ’{Uh]?&;[ I | Answer in complete sentence. 1X2=2

1. BT f0ct: et freiiviies g o 2

2. B Ut T 2

C. TUTAERi Iuve % X2=1
1. TR ¥ U fawgrifarue v forag »
)<, AR, e

2. T SeE: fgyw: Mol affy avea fpame o foraay
)ﬂ\&fmﬁ:, WUTEﬂDcT:,. 3{%(
VI ISR UE [ Regrdeus Rrag) 1%, X8=4

Write the Synonyms / Antonyms

A. Wm ﬁ"l@'cH Write the Synonyms
1.9 = 2.1 =

3.9 = 4. '-eruf =

B. faesTdeud fRorad | Write the Antonyms
1. 3TN x 2. P& x
3. G X 4. M X
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SINDHI HIGH SCHOOL, BENGALURU
ANNUAL EXAMINATION [2023-24]  /

SUBJECT - Additional Hindi [
Name : ‘\
Roll No:
Class/Sec: VI Max. Marks: 30
Date: 28.3.2024 Reading time: 15 mins
No of sides: 4 Writing Time: 1 hr

L 4

GENERAL INSTRUCTIONS:

o Write your Name, Roll number, Section in the answer script.
e Read all the Questions carefully.
¢ Answer all the Questions and write neatly.

L 4
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SINDHI HIGH SCHOOL. BENGALLEL

&3 26:Y1 V4
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- R - R
n” A me— o ot - - N
.\‘\.. O Pl dica. g TIET /S — ;
P - - - -l - - -

GENERAL INSTRUCTIONS
All questions are compulsory.
Part - A consists of 20 MCQ’s carrying 1 mark ezch.

Part - B consists of 3 short z2nswer guestions c2rr3ing 2 marks exs
Part - C consists of 6 short 2nswer guestions carrving 3 marks eac3

Part - D consists of 4 questions ¢2 ing 5 marks e2c
Part - E consists of 3 case study qnc:mr: s carrving 4 marks each
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S Perimeter ofa semi-cirelens

a. l e b+ d C. d.3mr?
0 l_‘—t“u ol 200 18 .

a. 25 b. 12 ¢. 40 d. 100
L0, The value of (=27) X (=16) + (=27) X (=14)is .

a. —1110 b. —810 c. 810 d. 1110
L1 The angle of rotation of an isosceles triangle 1s

a. 120° b. 270° c. 180° d. 360°

12. A/an connect a vertex of a triangle to the midpoint of the opposite side.
a altitude b. median C. vertex d. none of the these
L3. The ratio of the area of 3 circle to the area of a semicircle is
., l:2 b. 2:1 c. 4:1 d. 14
14. If the sides of a square are halved then its area s

a. one fourth b. doubles ¢. becomes half  d. remains same

L5. Out of 32 students, § are absent. What % of the students are present?

a. 50% b. 10% c. 25% d. 75%
16. Which is greater?

a. (=8) + (-9 b.(=8)=(-4) ¢.8=(-4) d. (+ 8) + (=4)
1 7. The rotational symmetry of order of '8 is p——

a. 2 b. 1 c. D d. 4

I8. The order of the rotational symmetry of the following figure about the point marked X
18

)

a. |
b.2 d. 4

el



19. Assertion: The triangle is possible to form by three line se

gments of lengths [0cm,
12¢m, 13cm.

—_
(=

Reason : The sum of any 2 sides of a triangle is less than the third side.

a. Both assertion and reason are correct and reason is the correct explanation of
assertion,

b. Both assertion and reason are correct but reason is not the correct explanation ot
assertion.

c. Assertion 1s correct but reason is incorrect.

d. Assertion is incorrect but reason is correct.

20. Assertion: 62.8cm is the circumference of a circle of diameter 28¢m.

Reason: Circumference of a circle is md.

a. Both assertion and reason are correct and reason is the correct explanation of
assertion.

b. Both assertion and reason are correct but reason is not the correct explanation of
assertion.

c. Assertion is correct but reason is incorrect.

d. Assertion is incorrect but reason is correct.

PART B 5X2=10

21. Draw any two English alphabets which has no line of symmetry.
-5 ;
22. Represent — on a number line.
/

23. Simplify the following expressions and then find the numerical value for x = =2,
3(2x—4) +x*+ 5

24. The perimeter of a square 1s 24cm. Find its area

25. Find the value of x in the given 4 PQR, PQ=PR.




PART C 6X3<14

2 C 8
oS 3 ¢ 2 —BE
26. Subtract the sum of - and -—lg from the sum of 2 - and :

27. Radhika borrowed 12,000 from her friends, out of Whi(‘/h €4=OOQ were borrowed at |
18% and the remaining at 15% rate of interest P.A. What is the total interest after 3 yearsy

28. Check if the measures 2.5cm, 4.2cm and 8cm forms the sides of a triangle.

29. Find the value of x*—3x%y + 2xy? + 8 xy +9 for x=1 and y=2.

30. From a circular sheet of radius 4cm, a circle of radius 3cm is removed. Find the area of
the remaining sheet. Take (7 = 3.14)

31. Find the simple interest on ¥2400 at 5 % % per annum for 4 years.

PARTD 4X5=20

32. Find the length of the diagonal of
a. A Rectangle whose sides are 16¢m and 12¢m.

b. Find the perimeter of the above rectangle.
33. At what rate percent per annum will 23600 amount to ¥4734 in 3;_— years?

34. The adjacent sides of a parallelogram are 15c¢m and 8cm. If the perpendicular distance
between the longer sides is 4cm.

a. Find the area of the parallelogram.

b. Find the distance between the shorter distance.
35a. Express 75% as

1. Decimal

1. Fraction

i11. Ratio

b. What 1s 25% of 249
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5oy SINDHI HIGH SCHOOL, BENGALURU
.2/ ANNUAL EXAMINATION [2023-24]

SUBJECT: SOCIAL SCIENCE

Class: VII Max Marks: 80
Date: 21.3.2024 Reading Time: 15 mins
No of Sides: 6 Writing Time: 2 hrs 45 mins

-

GENERAL INSTRUCTIONS:

i. Question paper comprises Six Sections — A, B, C, D, E and F There are 37 questions in the
question paper. All questions are compulsory.,

ii. Section A - From question 1 to 20 are MCQs of 1 mark cach.

iii. Section B-Question no 21 to 24 are Very Short Answer Type Questions, carrying 2 marks
cach. Answer to each question should not exceed 40 words.

iv. Section C contains Q 25 to Q 29 are Short Answer Type Questions, carrving 3 marks cach.
Answer 1o each question should not exceed 60 words.

v. Section D-Question no. 30 1o 33 are long answer type questions carrying 5 marks cach. Answer
to each question should not exceed 120 words.

vi. Section-E- Questions no from 34 10 36 are case based questions with three sub questions and
are of 4 marks each.

vii. Section F-Question no. 37 is map based, carrying 5 marks with two parts, 37a. from History
(2 marks) and 37b. from Geography (3 marks).

viii. There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions have to be attempted.

ix. In addition to this, separate instructions are given with cach section and question,
wherever necessary.

&

*

{ |

~ SECTION-A o ]
) Choose the best option- ) 1.2
I Paiks were the : ()
(@) Landlords _(b) ltincrants _ (¢) Nomads _ (d) Forced labour ) 1 l
2. The Domestic Violence Act was passed in the vear (N !
(a) 2014 (b) 2006 (¢) 2016 (d) 2004 {
3. Bromeliads are special plants that store water in their ) (y |
(a) Stems  (b) Roots (¢) Leaves (d) Branches
4. [Whichof the 1';)'!171”\\7‘5{];'_\11 of the atmosphere is free from the clouds? (N
(a) Stratosphere  (b) Troposphere (¢) Mesosphere (d) Inosphere |
- 8 Match the following Y
I Bedowins | iMomastery _ 1
2. Lamavuru | ii. Shastoosh ]
! , 3. Oasis ii. Sahara N
u Ni 4. Chiru L v. Depression with water
f [ (@) 1- i, 2-iv, 3 -jii, 4- i (b)1- i, 2-i, 3-iv, 4-ii
| L (©)1-iv, 2 -ii, 3-iii, 4-iv (d) 1-i. 2-11, 3-iv, 4-ii I
L 6. ' The Mughal forces under attacked Garha Katanga. (1)

| . S £tk . wEd
| | (a) Asaf Khan (b) MirJumla (c) Aman Das (d) Allauddin Khalji

e D L
rage - i



I_" T ] Racheundan Devy was o i i
| (a) Maharastra (b Taowl Nacta (o) Went Rengal () Kerala .
R ‘ Fvery vear on 14% August, propie gather ot buiaf iy
l‘.ﬂ‘N:&’J;!" of Nulch —wl!h- W ”‘i”‘ 7 i<} k"t’!':“ "ff_-r i 2\‘
’ g f Match the following
I ohoatwr Dhas i Lsusarst
3 Narw Mehoa i Uniae Pra
¥ Baess anna i Maharsadurs
4 Ny i hu’a;;tﬁ&
8) bown -0 30 4-aui by b 2w i 4
| ) ."'_ iy brin .:'ﬂ " Ja.ﬂ;"rﬂ‘ (ly §-aaa, -4, 3 A . g
HY Ranveer "s...-g' Bhizvpan was bofn o eomam— .
(a) 16™ hudy 1973 (b)) 6 ?,M 1985 ¢y 14° i*.m 1993 wil §e Fa.h 49(‘
I - +
H | Khabar Lahriya s 3 - ()
{8} pourtial (b Magarine ?aﬂo« Neaspaper (€] News Chssnel ;
! 12 1 ¥l the i oreect »:".a‘.c:-:tsrf.f"#‘f 7 (1)
{ (A) Sawa: Raja Jas Samgh comainected settomcrmacal oiaesaatorsee &8 Mathars
1' “”‘ -K@f* Apst gl*-‘-:%?‘ o¥ F‘---‘.‘.'?;;'x_; held the goneymorahip of LETE -
| i (Cy Nagaut was congeernd and arstuee od to the o hoddbgng
I “}f R#"G 222 81 iigh fouwmdod bies mess capmtal ot Agt 1
e lWAB (b) A.D (honls A (d)only D |
Vb3 : “'h?,z:'r is q:n:. gt;-ﬁ “+lg ot Y, Eans X ’Tcr. : o "_{“
_‘ (2) ht}'ﬂm (b)) Motale (c) 1.6y (&) Telopione !

S x!

b S ey
[ €% 261 e wommliores : :
I4 O 26 E\.n_g\;,..‘.ﬁ. o || ik lﬂmc maa e mowe\& b ET n_-""q. peaie cgm:mmﬂ Amm Eey i
‘ |

T
i - Ay v A * s
{ | () ’i dla st *-'m ‘r"w Dl (€ S --‘\:“ u£ ..} 3 i
s .\zrr':r thic plaice whned # e e 1 1
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SECTION - ¢

Quno. 28 0 29 are short answer questions,

,
23 Observe the prcture given below and answer the following questions. (142-3) :
| |
1 ,
|
‘.. -
L
b2 | |
L
i |
Biie 3
0 Identify the personality in the picture i
Write a short note on the contribution made by her in the ficld of l
_ devotion. .
26 a. Who set up a misston Khedgaon near Pune in 1898? | (1+2=3)
' b. How did the mission prove beneficial for the women? |
21 | Explain different types of w ind. - (3)
28 Describe the flora and fauna of Ladakh. 1 3)
:
29 | .\‘5‘_{1{-5‘___;'\.‘)_} _’_{Eﬂgﬁm philosophies of Shankara. | (3)
SECTION-D
1 Q.no. 30 to 33 are long answer questions 5x4=20 |
30 a. Differentiate between Spring Tide and Neap Tide with the help of neat S |
diagram.
b. What are the benefits of high tides?
OR ‘
a. Explain the concept of water cycle with the help of a neat diagram. ] (342=5)
b. Suggest any two ways by which water can be conserved. |
S Explain how the chain of market is formed. What purpose does the chain of (5)
' market serve? '
OR
' Compare and contrast a weekly market and a shopping complex on the basis of (3+2=5)
' the table given below.
i| : Market | Kinds of goods | Prices of goods | Sellers
[ | sold
[ 'Weekly Market |
| | Shopping !
||' Complex ; |
130 | What were the reasons for the decline of the Mughal power? (5)
| | OB e -
f! \ How were the Sikhs organized in the Eighteenth Century?
l 33. | What were the major beliefs and practices of the Sufis? (5)
OR
What were the major teachings of Baba Guru Nanak?

Page-3
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O, Montion the programme initiated by the government of India to
conserve e viver Ganga,

O Padkiy i owa i the Ganga-Beahmaputea plains, Give reasons,

Read the extvact and auswor the following questions.

fowands the end of the 17" centiey 1 posvertul state started emerging in the
Yeccanider the leadership of Shivaji which finally led to the establishment
of the Maratha stae, T was born to Shalji and Jijabai at Shivierd in
todQShivap embarked ona career of conquest at a young age, His exploils
agaimnst the forves of Bijapue and the Mughals made him a legendary figure by

wiadueing an ethcient adminiseative system sapported by a revenue
collection method,

a. Under whose puidance did Shivaji embark on a career of conquest?
b What made him the undisputed leader ol the Mavala Highlands?
N Explain the revenue collection system of the Maratha kingdom.
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SINDHI HIGH SCHOOL, BENGALURU.
ANNUAL EXAMINATION (2023-24)

SUBJECT: SCIENCE
CLASS: VII MAX MARKS: 80
DATE: 19/3/2024 READING TIME: 8.00 to 8.15am
NO OF PRINTED SIDES: 08 WRITING TIME: 8.15 to 10.45am

GENERAL INSTRUCTIONS:
i. This question paper consists of 39 questions in 5 sections.

ii. All questions are compulsory.
iii. Section A consists of 20 objective-type questions carrying 1 mark each.

iv. Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these
questions should be in the range of 30 to 50 words.

v. Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to
these questions should be in the range of 50 to 80 words.

vi. Section D consists of 3 Long Answer type questions carrying 05 marks each. Answers to
these questions should be in the range of 80 to 120 words.

vii. Section E consists of 3 source-based/case-based assessment units of 04 marks each with

sub-parts.
S NO. QUESTIONS MA
RK
S
SECTION A

Select and write the most appropriate option out of the four options given for
each of the questions 1 —20.

1 Which of the following is an acid-base indicator?
a) Vinegar

b) Lime water

c) Turmeric

d) Baking soda

2 Neutralisation reaction is a
a) physical and reversible change
b) physical change that cannot be reversed

¢) chemical and reversible change

d) chemical change that cannot be reversed




'When a man with stomach pain went 10 the doctor,the physician identified

ATy O : f e 7
aciditv. Which of the following would be the suitable reme dy for him’

!
L] .
a) Lemonade drink 3
b) Milk of magnesia. '|
¢) Acrated drink :'l.
d) Vinegar . |
) - 3 {1 J
~ . = P oW ALE | H
4 | Which of the following is a part of inorganic impunties of the sewage ;' ;
a) Pesticides !
b) Urea |
¢) Phosphates :
d) Vegetable waste : "'
5 | The valency of Oxygen is
a)3
b) 2
c) 1
d) 4
6  |Which of the following is wastewater? l
a) Water coming out of a shower.
b) Water coming out of the laundry.
c) Water flowing in the niver.
d) Water trickling from a leaky tap
f The tree that helps in wastewater treatment by absorbing water greatly from the 1
soil and releasing pure water in environment through transpiration is
a) peepal
b) Mango
¢) eucalyptus
d) banana
8 | Match the names of organisms in column | with their organs of breathing given in 1
column 11
Column| Column il
(ay  Butterfly (i) Lungs
)  Eathworm W) Gilis E
(© Sparrow (i) Sputacies i.,
(@) Fish v, Skn E
a) () —(1iD).(B—(v).( (i (d—n)
b) (ay—(i).(b>—(v). (o—{1). (d—(u)

&) (). (Py—(1v).(c)—m), (dy—n)
d) (a—(v).(d)—n).(c—), (dr—{u}




Which of the following activities are characterized by minimum breathing fate"
a)Dancing |
b)Sleeping

c)cleaning the floor

d)Washing the clothes

10

Identify the asexual reproduction shown in the given picture.
a) spore formation

b) fragmentation
¢) budding
d) binary fission

11

Normal range of breathing rate per minute in an average adult person at rest is
times per minute.

--------------------------

a) 15-18 times
b) 20-25 times
¢) 25-30 tunes
d) 10-15 times

12

Which of the following statements is/are true for sexual reproduction in plants?

(i) Plants are obtained from seeds.

(ii) Two plants are always essential.

(iif) Fertilization can occur only after pollination.
(iv) Only insects are agents of pollination.

a) (i) and (iii)

b) (i) only

¢) (ii) and (iii)

d) (i) and (iv)




e —————————e e e

13| Which of the following is based on the study of the shadow cast by the sun”
a) Simple pendulum
b) Atomic clock |
¢) Sun dial I
d) Quartz clock :
14 The image that cannot be obtained on a screen is called ’
a) real image
b) virtual image !
¢) diminished image ‘
u d) enlarged image I .
IS |Which of the products are not obtained from forest? %
a)Ginger
b)Catechuy i
¢)Honey |
d)Gum
16 Seeping of rain water takes place in
a)canopy
bjunderstorey
¢)forest floor
d)crown
Note: In the following questions 17 to 20, a statement of Assertion is followed
by a statement of Reasoning. Choose the correct answer from the following
options,
(2) Both assertion and reason are correct statements, and reason is the correct
cxplanation for assertion.
(b) Both assertion and reason are correct statements but reason is not the
correct explanation for assertion.
(C) Assertion is correct, but reason is the w rong statement.
(d) Assertion is wrong, but reason is the correct statement.
17 JAssertion (A): HCI s acidic m nature
Reason (R): It reacts with a base to form salt and water
I8 | Assertion (A): Vegetative propagation 1s 2 method of asexual reproduction in |
plants. -
Reason (R): In asexual reproduction new plants are obtained without use of sced 3 |
| {
Assertion (A): The vanous components of the forest are interdependent
19 | on one another
Reason(R): The forest keeps on growing and changing and can regenerate |
20 | Assertion (A): Plane murror 1s used in torch hights . ?

e ———

- » O - o 1 “ s =] Y i re
Reason (R): Plane murrors always form an image of equal size, an erected imag

T




21

i. Hydride

ii. Carbonate iii. Magnesium iv. Boron
22 |How do plants respire?
2
23 |Forests are called lungs of the earth?Give reason. \ 2—1\
24 | A simple pendulum takes 20s to complete 42 oscillations. What is the time period| 2
of the pendulum?
25 | Two different types of lenses ar

) ! ‘ ¢ placed on a sheet of newspaper. How 2
will you identify them without touching? o

26

Why do we feel muscle cramps after heavy exer

Section C

cise? \ 2 \
| |

27

-

| Look at the figure which shows solutions taken in test tubes A, B and C. What 3

colour is expected, when a piece of red litmus paper is dropped in each test tube?
IMention the nature of the solution after performing the test.

s———
b »°
A 8 ‘
Mik in “Baking powder Vinegarin
water in water water
28 | Draw an atomic structure of Silicon. Mention its atomic number, mass number 3
and electronic configuration.
29 [Identify the seeds given below and mention the means of dispersion. 3
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1

Wilerent stapes'steps of a WW I e "
A | 1 IS piven below A”"“l.f“‘ them In e

Sectlon D

TN |

‘l\l\l
\oration l.lllk klil and sand remoy ol tank, s Mg tank, |
Wt A Tee
(\\ ATt anue all the l\n\‘ ste ALR] the ¢ arrect onde i feen

bin “hll h ”l\’\ OUCHE 1 1h

18 A PL"“ UMW
(0 Which step gives most of the shudpe?
HoOuthine your role :
, \ CaN AN ag to
Whve Citizen i telation to samitation w publ il
LS B3 TR
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b
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)
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ey d

A i

a)ldentify the given picture A and B and label the parts
b)Define zygote.

a. The given data regarding the motion of an object C is given w a tabular torm

h honevbee and was in great pain. Immedately, his fniends call his mothes
hpplied baking soda solution on the atfected arca and
Read the above passage and answer the following questions

() What could be the reason for this burming pain?

(b) Why did his mother apply baking soda solution on the affected arca
(¢) Farmers have to treat the soil before sowing seeds. Justufy
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then took him to the doctc
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Draw a distance-time graph using given data,
Time 9:30 9:45 1 10:00 | 10:15 10:30
am am | am am am
Distance | 10m 20m | 30m | 40m S0m
traveled |
b..Differentiate between uniform and non-umtorm motion
Section B
37 | Niutesh was playing with lus tnends i the garden. Suddenly, Nitesh was stung
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; added a pinch
A food stall owner was preparing dough for making bhaturas. e

g, the
of yeast and sugar to the dough and left it in a warm place. Aftera foyf o

dough had risen. There was a sour smell too.

a) Why did the dough rise?

b) Why did the dough smell sour?

¢) Why was sugar added to the dough? )
d) What would have happened if the dough was kept in the refrigerator, soon after
it was prepared?
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Namit was driving a car and suddenly became aware of a loud sound coml}lg
from behind. He looked through his rear view mirror and saw an ambul:'m_ce-'l' eh
recalled reading that such emergency vehicles often have their name written in the

mirror (AMBULANCE) or writing, i, . 39MAJUBMA.

a)Which mirror is used as a rear view mirror? Give a reason.
b)Explain the term lateral inversion.

c)State any two characteristics of the image formed by the above mirror.




